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SHTEEZDRENE(L 28,328 U THIERBAL 156.3 %IZHE->TULVET,
ERB/NDMHRED1EFLLER(L 85.2 % T, FIFERKICLER 6.1 RAUVIELHELTLET,

(1) BEHE (BB b))
X % JT F E 30 3 B AT EH
T @ N E 667 661 100.9%
@B K E 26,972 16,913 159.5%
TEKRKANKE - - -
LTBEIEEME - - -
E —IJIL X & 2 0
B F R £ 688 545 126.2%
& B 28,328 18,119 156.3%
(2) FARLE (B4 : %)
X 4 JT : B 30 & I3
1% 2% F5nE | BB 1% 2% Z50LE | FHEs
T @ N E 49.3 44.1 - 6.6 70.9 25.7 - 35
@B K E 85.2 5.0 - 9.8 79.1 5.6 - 15.3
TEKRKHNKE - - - - - - - -
LBEIEEME - - - - - - - -
E— L XK & - 100.0 - - 100.0 - - -
2 RENRERERVERILE (BB b))
X % fn fE A BREHE 1% 2% F5nE | BB =X
ELEME 316 11.5% 78.4% - 10.1% -
fBHR XIS 299 87.0% 12.4% - 0.6% -
T @ N EXEDEDS 36 90.1% 5.6% - 4.2% -
aAFaLE 6 - - -|  100.0% -
T Dith 10 - 71.7% - 28.3% -
T7AIN—R/Y 23,905 86.7% 3.3% - 10.0% -
Zh53FLH 2,653 80.1% 11.1% - 8.8% -
T @R K EZ/YLE 265 1.5% 98.5% - - -
RIOA D748 — 143 77.6% 6.3% - 16.1% -
T Dith 6 96.0% - - 4.0% -
TEKRKHNKE -
LTBIEEME
E — L X Z|ZDith -|  100.0% - - -

GE1) BERERUVFRERICEVT. SVUFOBEKLE,
(2) RHADIOFEDHFITRTERPDLDTY,

FFERRN—HLGWGEELHYFET,




THREFEESR
(%

18 E B R

it

3

= 2R BB £ E R

DIREHKR(HRB) HEEE
M 24 3A3EARE )

SHMTEEZDREREIL 684 FOTHIERHAL 132.0 %IZHE->TNVET,
EE/NDMHREDT1EFLERIL 1.0 % T, AIERBAICLER 3.4 RAUMEGEH>TWET,

(1) BEHE (AL b))
X % JT & 3 30 & 3 ot BT 4F (R L
T @ N E 120 140 85.7%
TENHKE 563 378 148.9%
TBAHKZE - - -
EBEIEEME - - -
E —JIL X & - - -
B F R £ - - -
= B 684 518 132.0%
(2) FEHRLLE (B4 - %)
X 4 7T < E 30 & I3
1% 2% E5nE | BN 1% 2% E50L | BB
T @ N E - 93.9 - 6.1 - 99.2 - 0.8
L@ NHKE 1.0 98.6 - 0.3 4.4 91.1 - 45
TBAHKZE - - - - - - - -
EBEIEEMNE - - - - - - - -
E— L X = - - - - - - - -
2 SENBRERERUVERLE (AL b))
X & fn 12 £ BREH=E 1% 2% E5nE | BN =
w = ELMD 119 -|  93.8% - 6.2% -
e L 2 -| 100.0% - - -
[ZR53FLH 297 - 99.3% - 0.7% -
&N K E|IZ/LYE 265 1.5% 98.5% - - -
TN 2| 100.0% - - - -
TBAHKZE -
EBEIEEMNE -
E — L X & -

GCE1) BREHERUVFRERICEVWT. SVFDOBEEKLE,
(X2) RPOIFEDHFFRIERBADLDTY,

FFERRRN—HLGWGEEAHYFETS,
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SHNTEEZDRERE(L 9,395 FTRIFERIBALE 1305 %BIZHE->TWVET,

T ENHAED1FLEL 905 % T, BIERBICHER 7.9 RIS TVET,

(1) REBEHE (BfI: ko)
X % T =3 B 30 & = AT R AL
T & N E 80 84 95.2%
T@ENKKE 9,029 6,850 131.8%
TEKRKANKE - - -
LTBIEEME - - -
E — L X & 2 0
g ¥ B £ 284 264 107.6%
& g 9,395 7,198 130.5%
(2) FARLE (B4 : %)
X 4 JT : B 30 & I3
1% 2% F5nE | BB 1% 2% Z50LE | FHEs
T & N E 84.5 9.4 - 6.1 92.3 - - 1.7
T@NKKE 90.5 0.4 - 9.1 82.6 0.0 - 174
TEKRKHNKE - - - - - - - -
LBEIEEME - - - - - - - -
E— L X & - 100.0 - - 100.0 - - -
2 RENRERERVERILE (BB b))
X % IRERES BREHE 1% 2% FNE | FAEN =X
SEDEDL 36 90.1% 5.6% - 4.2% -
T & /N ERpEEHID 36 98.7% - - 1.3% -
ZzNDHh 8 - 65.5% - 34.5% -
N, T7AIN—R/™Y 9,025 90.5% 0.4% - 9.1% -
BRAMMAE ZzNDHh 4 94.4% - - 5.6% -
TEKRKANKE -
LBEIEEME -
E — L X Z|Z04 -|  100.0% - - -

GE1) BERERUVFRLERICEVT. SVUFOBEKLE,
(F2) RHADIOFEDHFIFRTERPDLDTY,

FFERRN—HLGWGEELHYFET,
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SHTEEZDRENEIL 4,849 U THIEREBAL 159.3 WIZh->TWVET,

ERB/NDMHMRED1EFLERIL 69.6 % T, FIFERKICLER 35 RAUVIELELTLET,

(1) BEHE (BB b))
X % JT F E 30 3 B AT E A
T @ N E 168 148 113.5%
@B K E 4,592 2,879 159.5%
TEKRKANKE - - -
LTBEIEEME - - -
E —JIL X & - - -
B F R £ 89 16 556.3%
& B 4,849 3,043 159.3%
(2) FARLE (B4 : %)
X 4 JT : B 30 & I3
1% 2% F5nE | BB 1% 2% Z50LE | FHEs
T @ N E 0.8 81.2 - 18.0 80.4 9.2 - 10.4
@B K E 69.6 16.4 - 14.0 66.1 15.6 - 18.3
TEKRKHNKE - - - - - - - -
LTBIEEME - - - - - - - -
E — L X & - - - - - - - -
2 RENRERERVERILE (BB b))
X % fn fE A BREHE 1% 2% F5nE | BB =X
% & N o= WwEEMND 162 0.8% 84.3% - 14.9% -
aAFaLE 6 - - -l 100.0% -
T7AIN—R/Y 4,450 69.3% 16.7% - 13.9% -
L@ /R KF|TRILRT7AL/N— 143 77.6% 6.3% - 16.1% -
Z Dt -
TEKRKHNKE -
LTBIEEME -
E —JIL X & -

GEX1) BERERUVFRLERCEVT. SVUFOBEKRLE,
(F2) RHADIOFEDHFIFRTERPDLDTY,

FFERRN—HLGWEELHYFET,
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SHTEEZDREREIL 13,400 b THIERBAL 182.1 %IZHE->TULVET,
BN RED1FLERIL 90.7 % T, FIERKZICLEAR 55 RAUVIELELTLET,

(1) BREHE (BEAT: )
X % JT F E 30 T E XETERIEALE
= & I E 299 289 103.5%
TE K E 12,787 6,806 187.9%
TaEKAaKE - - -
TEITEANE - - -
E — L X & - - -
B F B £ 314 266 118.0%
& H 13,400 7,360 182.1%
(2) FEpLLE (B4 - %)
“ T e 3 30 F 3
X 7
1% 2% F9 L | A 1% 2% E5LE | RESN
= & I E 87.0 12.4 - 0.6 94.1 5.9 - -
TE K E 90.7 0.0 - 9.3 85.2 2.3 - 125
TaEKAaKE - - - - - - - -
TEITEANE - - - - - - - -
E —JIL X & - - - - - - - -
2 RERERERUVERLE (BEAT: )
X & T 5 REHE 1% 2% F9 L | A =Xis
T @ N E|EHRKIE 299 87.0% 12.4% - 0.6% -
e T7ALIN—R/™Y 10,431 90.8% 0.0% - 9.2% -
B e 2357 90.1% - - 9.9% -
TaEKAaKE -
TEITEANE -
E — L X & -

GE1) BERERUVFRLERICEVT. SVUFOBEKRLE,
(F2) RHADIOFEDHFIFRTERPDLDTY,

FFERRN—HLGWGEELHYFET,




